B THILIN Y RALPER

SHE6ERE

FRETEFE (R6.11.19)

11A8 12A8

| EHAT R 4 BERER

1A

7K

B/{S—>
(BEA=66) 2
TEE3 (2~68)

(€i={"\=))

3 | k [sEEmsEmEEHRE 3| B |Yane (3m14m) 3| A |Arm—y
4 |k | crEEBLY 2 —o3EE) 4 | 4 | w |z2Em>5260
< FERFFOO
v A/YQ_J = O O
5 * W%Kﬁ%ﬂgﬂ 5 * 5 7}( 5 7k Egggg‘aﬁ%)
6 | K 6 | AR | AT - HEAR 6 | K |EIE£ROG
1| ® | BBAS 7| k| 3%sateges AE: 7| % |secoremsms
(BERED3IH=G6) 8 | KA —y
AIXD—>
£823 (MES2O) 9| &
fom=as .
RANEIEASR BISS—Y
W ae 1&%1@ .ZE%Z@ B/f&“y A o\
10] 2 | T4 BracaEs 10) % | mpsniaa 10| B | xmmm - sessss 101 A |eTRAZS MRt
== SFEZHF A z 2
B/t —Y FRIABRIASHEE 1, |Pu BERAR
1|8 |2a2 1|k |Saas 1| & |FmaEmacDiss
o 1284 o
1, A RSRIAG S _ 4 BRIAS S S
1.8
BEEFHT R ~
13 | %k 13| K |F=r 13| &
PITERIRERR R
1l B/Y&“J ac e

17

AN —Y
17| A |zaz26 (@®) 171 A

ARG =Y
RIERHIREIRR

KITERFIRBERER

18| B |s40®BTZ 18 | 7k N | DI EEHFIEARR 18| X
WERT
19| X |B40EBTZ 19 | K | Kigg& 7K 19| 7k
CEELABILEHED)
AL
20 | )X |E4DEBTZ 20| & 20| B |28452+—5= 20| K
SFESTEMERE
21 | K |=xmsmEzn 21| k| 28462+ —5 21| &

242+ —F2RKE

| pEgER

INPREEEN
PN

ORI T

73¢813:30
76 - BiE15:00

AR 22 | 7k |mz—teAs
T REES
T BAR
mEX ZHEEs 23| % |3ERESR
24 | 24| % |ER o b RERR 2| g |EIS
* & |e87 2 - 556 B
(REREER) NTTEEHEIRE
25 | 7k B/XS—Y 25 | & |nEEssBERs
26| Mk [Arsm—> 26 | K [z 26 | 7K |ATI—ieZhigE 26 | K
27 |k [HEBLDA=T 27| & [aAL-TEE 21| &
28 | & 28 | & |nmBIL—TEE 28| &
2% — BB R NS
29| & g cF5) 29 | 7k |nuEEHEERES
13:15~14:30
30 | &
31| 2 [Azsmea 31| B




